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Run 5448 quartetwise, PosHalAccl/NSamplas

=== Laser O -—

Entrie=: 24065
Mean: 14,1419 &/- 00047
St Dhey- 0.7209 4~ 000X

=== Lager OFF ---
Entrie=: 14230
Mean: 1 4687 «- 00017
Siad Dhey: 02037+~ 000072

Run 5448 quartatwize, Diffs)

=== Laser O -—

Entries: 24065
Mean: -0.56074 < 0L003L
Sid Dhey: 0U5336 +- 000249

=== Laser OFF ---
Entries: 14220
Mean: -0.0012 «/- u0d21
Sid Dhey: 0.2530 +~ 00015

Run 5448 quartetwise, Asyms(
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=== Laser ON -—
Entries: 24065
Mean: -3047F16 +/- 0.1315
Sid Dev: 204006 +/- (L0930

=== Laser OFF ---
Entries: 14220
Mean: -0.0459 «- 0U0&11
Sid Dey: 96759 - 010574
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Run 5448 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-

Entrie=: 24065
WMean: 14,8452 /- 000049
Sid Dhew: 0UMGAT &b 00035

=== Lager OFF ---
Entrie=: 14230
Mean: 14699 «- 00017
Sid Dheyv: 02023 - 00072

Run 5448 quartetwize, Sums0

=== Laser O -—-

Entries: 24065
Mean: 29,0911 - 000590
Sid Dev: 1.3944 - 00064

== Laser OFF ---
Entries: 14230
Mean: 29386 +- 0.0027
Sid Dev: 06T - 0.0079




Run 5448 quartetwise, PosHelAccd Run 5448 quartetwise, NegHalAccd
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— Mean: -31.1446 +/- 0.1211
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Run 5448 quartetwise, Asyms USbg?

ik
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=== Laser O -—
Entrie=: 24065
Mean: 00013 «- 0,027
Sid Dhey: 00153 - 00078

=== Lager OFF ---
Entrie=: 14230
Mean: -0.0008 «/- 00OAE
Sid Dey: 04178 - 00025
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d:l'! HH-HHH-J_ 1 1
0.5 1

Run 5448 quartetwize, Asyms Dsbg1

=== Laser O -—

Entries: 24065
Mean: -0.0005 «/- 0UO0DE
Sid Dhay: 012871+~ D.O00E

=== Laser OFF ---
Entries: 14220
Mean: -0.0027 «/- 00011
Sid Dey: 01276 +~ 00008
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Run 5448 quartetwise, Asyms Horiz Finger
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=== Laser ON -—

Entries: 24065
Mean: -0.0047 < QLO02Y
Sid Dey: 03622 &~ 00017

=== Laser OFF ---
Entries: 14220
Mean: -0.0003 - 0L004Y
Sid Drey: 0.5008 -~ 0.00%0
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Run 5448 quartetwize, Asyms UShg2

b

=== Laser O -—-
Entrie=: 24065
Mean: 00074 «/- 0018
Sid Dhew: 02832 o0 00073

=== Lager OFF ---
Entrie=: 14230
Mean: 0000 «/- 00024
Sid Dhev: 02860 - 00017
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Run 5448 quartetwise, Asyms DSbg2

g,

1

=== Laser O -—-

Entries: 24065
Mean: -0.03005 «- 0000E
Sid Dev: 01168 & 00005

== Laser OFF ---
Entries: 14230
Mean: -0.0011 «- 00010
Sid Dev: 01165 - 0.0007

Run 5448 quartetwise, Asyms Vert Finger

0.5

=== Laser O -—-

Entries: 24065
Mean: -0.0068 «- 00017
Sid Dev: 00668 &~ 000712

== Laser OFF ---
Entries: 14230
Mean: -0.0021 «- Q002G
Sid Dev: 03409 &~ 0.0021
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Run 5448 quartetwize, posHI vs time
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Run 5448 guaretwize, asymisub vs fime
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Run 5448 gquartetwize, negHO vs time
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Run 5448 guartetwize, summi vs time
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Run 5448 quartetwise, posH4 vs time
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Run 5448 gquartetwize, negH4 vs time
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Run 5448 quartetwize, USbg2 ve time

Run 5448 quartetwize, USbgl ve time
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Run 5448 quartetwize, DSbg1 ve time
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Run 5448 quaretwizse, variFing vs timea
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